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1) s x 13, 2) 2 x 13, 3) Ygx 15/,
Answer: Answer: Answer:
4) 227.1- 7784 5) W - 65 6) W+ 618
Answer: Answer: Answer:
7) W+ 618 8) A number ischosen at random from 1 9) Find area of
to 50. Find the probability of selecting b rectangle having
divisors of 13. sidesa=960in
a andb=951in
Answer: Answer: Answer:
10) Find area of 11) Find area of 12) W .1,
b rectangle having b rectangle having
sidesa=960in sidesa=960in
a andb=951in a andb=951in
Answer: Answer: Answer:
13) A number is chosen at random from 14) 115.2 - 304.6 15) 57.6 - 651.7
1 to 50. Find the probability of
selecting factors of 13 and 12.
Answer: Answer: Answer:
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16) 57.6-651.7 17) B3 x 19, 18) A number was shared in theratio
48:3. The smaller share was 56.
What was the larger amount?
Answer: Answer: Answer:
19) Find area of 20) 12075+ 375 21) Decrease 284 by 5/ 142
b rectangle having
sidesa =995 ft
a and b = 309 ft
Answer: Answer: Answer:
22) Convert the following mixed number || 23)  Convert the following mixed number || 24) 18 x 1,
413 into an improper fraction. 413} into an improper fraction.
Answer: Answer: Answer:
25) %/ 59 Of 156 26)  734.4-1346 27) Y, of 20
Answer: Answer: Answer:
28) Find area of 29) Find area of 30) Find area of
b rectangle having b rectangle having b rectangle having
sidesa=786in sidesa=786in sidesa=786in
a andb=774in a andb=774in a andb=774in
Answer: Answer: Answer:
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31) 6.9x45.2 32) 44352-+30.8 33) Decrease 14 by l/7
Answer: Answer: Answer:
34) 768 - 684.1 35) 617 + 342.4 36) 461.6-14.1
Answer: Answer: Answer:
37) Yg of 174 38)  529.1+655.6 39)  529.1+655.6
Answer: Answer: Answer:
40) 5,5 0f 52 41) 42) 3.4x24.9
Find the next three numbersin
the sequence
3,6,6991212 , ,
Answer: Answer: Answer:
43)  34x249 44) 1 +4, 45) Yo x %
Answer: Answer: Answer:
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46) 10/19 + 18,14 47) 809.5-123.8 48) 809.5-123.8
Answer: Answer: Answer:
49) 809.5-123.8 50) 778 - 304.5
Answer: Answer:
Total: /50
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MERATOR

Answers:
1) 1%, 2) 1%, 3) %, 4)-551.3 5)33 6) 33 7)33
8) ¥ 9) 912960in 10) 912960in 11) 912960in 12) 218/, 13) %, 14) -189.4
15) -594.1 16) -594.1 17) 154 18) 896 19) 307455t 20) 32.2 21) 274
22) 37, 23) 37/, 2425, , 25)8 26) 599.8 27)5 28) 608364in
29) 608364in 30) 608364in 31) 311.88 32) 144 33) 12 34) 83.9 35) 959.4
36) 447.5 37)2 38) 1184.7 39) 1184.7 40) 20 41) 15,15,18, 42) 84.66
43) 84.66 4439, 45) %114, 46) 701,44 47) 685.7 48) 685.7 49) 685.7

50) 4735
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